SEHEFHNBRE $255 1989

WINTER GPA ( 0/150 BAR)
120E 150E 180 150W [20KW 90W

120€E 150E 180 150W 120HW 90W
CONTOUR INTERVAL = 0.1(10 Mxx2/Sxx2)

1.4.1 AZFIIBI5H GPA OKESHA (#5HE)

WINTER GPA ( 27150 BAR)
120E 150k 180 1SOW 120K 90W

120€E 150E 180 1S0W 120W 90W
CONTOUR INTERVAL = 0.1(10 Mx%2/Sxx2)

1.4.2 AZF B8BTS GPA DKFESA (20m)

— 125 —



KEREFBAERE - 255 1989

WINTER GPA ( 5/150 BAR)
120E 150E 180 150W 120K 90N

60N

30N

4305

- 6505

120E 150E 180 150KW 120K S0KW
CONTOUR INTERVAL = 0.1(10 Mxx2/S%xx2)

M 1.4.3 AZFIBITSD GPA DAESA (50m)

WINTER GPA (  7/150 BAR)
120€ 150€ 180 150NW 120KW 90NW

50N

1S0E 180 1SOW  120M SOW
CONTOBUR INTERVAL = C.1(10 Mx%2/Sxx%2)

@1AA~§$uBﬁbam®m$ﬁﬁ(%m)
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[EFRTHMRE  $H25% 1989

WINTER GPA (.10/150 BAR)

1 20E 150E 180 1S0W 120W SOW

50N

30N

£EQ

605+

150E 180 150K 120KW 90NW
CONTOUR INTERVAL = 0.1(10 Mxx2/Sxx%2)

1.4.5 AFIZBIT5H GPA DKRESA (100m)

WINTER GPA ( 15/150 BAR)
120E 150E 180 150K 1200 SOW

120E 150E 180 150W 120W 90W
CONTOUR INTERVAL = 0.1(10 Mxx2/5%x%2)

B 1.4.6 AZF2BIF5H GPA DAFESA (150m)
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FEMAFEHBE H255 1989

WINTER GPA ( 20/150 BAR)
120t 150E 180 150K 120K S0W

60N

30N

EQ

30S

605+

120E 1S0E 180 150W 120KW S0NW
CONTOUR INTERVAL = 0.1(10 Mxx2/S%xx2)

Bl 1.4.7 &FIIBITSH GPA DAFESA (200m)

WINTER GPA ( 30/150 BAR)
120€ 150E 180 150W 120K 90NW

120E 150E 180 1S0W 120W 90NW
CONTOUR INTERVAL = 0.1(10 Mx=2/Sxx2)

K 1.4.8 &FIIBIFB GPA DKESA (300m)
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SEWMEFHMHE $255 1989

WINTER GPA ( 40/150 BAR)
120E 150E 180 150NW 120K 90K

50N

60N

30N

EQ

305 k305

609+

=505

OE 150E 180 1S0NW 120K 90NW
CONTOUR INTERVAL = 0.1(10 Mxx2/Sxx2)

K 1.4.9 AFIZBiTBH GPA DKESA (400m)

WINTER GPA ( 507150 BAR)
120E 150E 180 150W 120U 90W

60N

" 120E  1S0E 180 150K 120W 90W
CONTOBUR INTERVAL = 0.1(10 Mx%2/Sxx2)

1.4.10 AFIIBITS GPA DKFEHA (500m)
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